

A Subclass of Meromorphic bi-univalent functions

Faisal Al-kasasbeh

Department of Mathematics and Statistics
Faculty of Science
Mutah University
P. O. Box 7, Karak 61710, Jordan

email: kassasbeh13@yahoo.com

(Received February 27, 2019, Revised March 30, 2019,
Accepted April 2, 2019)

Abstract

In this article, two subclasses of meromorphic bi-univalent functions are introduced and discussed. The first three coefficient bounds are obtained and proved.

1 Introduction

Let A denote the class of all analytic functions which are defined in the unit disc $\mathcal{U} = \{z : |z| < 1\}$ and which can be written in the form:

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n, \quad a_n \in \mathbb{C}. \quad (1.1)$$

Let S be the class of all normalized analytic univalent functions in A . An analytic function f is subordinate to an analytic function g , written $f \prec g$, if there is an analytic function w with $|w(z)| \leq |z|$ such that $f = (g(w))$. If g is univalent, then $f \prec g$ if and only if $f(0) = g(0)$ and $f(\mathcal{U}) \subseteq g(\mathcal{U})$. A function

Key words and phrases: Meromorphic functions, Bi-univalent function, k -symmetric star-like functions with respect to points, Differential operator \mathcal{U}_λ .

AMS (MOS) Subject Classifications: 30C45, 30C50, 30C80.

ISSN 1814-0432, 2019, <http://ijmcs.future-in-tech.net>

$f \in S_s^*(\alpha)$ is strongly starlike of order α ($0 < \alpha \leq 1$) if $\left| \arg\left(\frac{zf'(z)}{f(z)}\right) \right| < \frac{\alpha\pi}{2}$, for $z \in \mathcal{U}$. Alternatively, $f \in S_s^*(\alpha)$ if $\frac{zf'(z)}{f(z)} \prec \left(\frac{1+z}{1-z}\right)^\alpha$. A subclass $S_s(\varphi)$ of starlike functions with respect to symmetric points satisfies the condition $\frac{zf'(z)}{f(z)-f(-z)} \prec \varphi(z)$, for all $z \in \mathcal{U}$. A subclass $K_s(\varphi)$ of S is a convex function with respect to symmetric points satisfies the condition $\frac{(zf'(z))'}{(f(z)-f(-z))'} \prec \varphi(z)$, for all $z \in \mathcal{U}$. The Koebe one-quarter theorem [1] ensures that the image of \mathcal{U} under every univalent function $f \in A$ contains a disk of radius $1/4$. Thus every univalent function f has an inverse f^{-1} satisfying

$$\begin{aligned} f^{-1}(f(z)) &= z, \quad (z \in \mathcal{U}) \quad \text{and} \\ f^{-1}(f(w)) &= w, \quad (|w| < r_0(f), r_0(f) \geq 1/4) \quad \text{where} \\ f^{-1}(w) &= w - a_2w^2 + (2a_2^2 - a_3)w^3 - \dots, \end{aligned}$$

A function $f \in A$ is said to be bi-univalent in \mathcal{U} if both f and f^{-1} are univalent in \mathcal{U} . Let σ denote the class of bi-univalent functions defined in the unit disk \mathcal{U} . In 1967, Lewin [2] introduced the class σ of bi-univalent functions and he proved the second coefficient for a function f in (1.1). Brannan and Clunie [9] proved Lewin's result by proving $|a_2| \leq \sqrt{2}$. Many authors [3, 4, 5, 6, 7, 8, 9, 10] investigated classes of bi-univalent analytic functions and found estimates on the coefficients for functions in these subclasses. Let Σ denote the class of meromorphic univalent analytic functions f that are defined in the domain $\Delta = \{z \in \mathbb{C} : 1 < |z| < \infty\}$ and have the Laurent series expansion

$$f(z) = z + \sum_{n=0}^{\infty} \frac{b_n}{z^n}, \quad b_n \in \mathbb{C} \quad (1.2)$$

Estimates of meromorphic univalent functions coefficients were widely investigated. Schiffer [11] obtained that $|b_2| \leq \frac{2}{3}$ for a meromorphic function $g \in \Sigma$. If $b_0 = 0$, Duren [2] derived the inequality $|b_n| \leq \frac{2}{n+1}$ for the coefficient of meromorphic univalent functions with $b_k = 0$ for $1 \leq k < \frac{n}{2}$. Springer [18] showed that $|B_3| \leq 1$ and $|B_3 + \frac{1}{2}B_1^2| \leq \frac{1}{2}$ and conjectured that $|B_{2n-1}| \leq \frac{(2n-1)}{n!(n-1)!}$, ($n = 1, 2, \dots$). In this article, ΣS^* and ΣK denote the subclasses of meromorphic starlike and convex functions in S respectively. The concept of meromorphic bi-univalent functions is given and studied by Suzeini et. al. [16] in the domain $\Delta = \{z \in \mathbb{C} : 1 < |z| < \infty\}$, since $h \in \Sigma$ of the form (1.2) is univalent, then it has an inverse h^{-1} satisfying

$$h^{-1}(h(z)) = z \quad (\text{for } z \in \Delta)$$

and

$$h(h^{-1}(w)) = w \quad (\text{for } 0 < M < |w| < \infty)$$

The inverse function h^{-1} can be written in the form

$$h^{-1}(w) = w + \sum_{n=0}^{\infty} \frac{B_n}{w^n}, \quad 0 < M < |w| < \infty \tag{1.3}$$

So that a function $g \in \Sigma$ is meromorphic bi-univalent if $g^{-1} \in \Sigma$, and the class of all meromorphic functions is denoted by $\Sigma_{\mathfrak{B}}$. By a simple calculations we get:

$$h^{-1}(w) = w - b_0 - \frac{b_1}{w^1} - \frac{b_2 + b_0b_1}{w^2} - \frac{b_3 + 2b_0b_1 + b_0^2b_1 + b_1^2}{w^3} + \dots \tag{1.4}$$

For a positive integer k , let $\varepsilon = e^{\frac{2\pi i}{k}}$ then a k -symmetric function f_k with respect to points is given by

$$f_k(z) = \frac{1}{k} \sum_{v=0}^{k-1} \varepsilon^v f(\varepsilon^v z) = z + \sum_{i=1}^{\infty} \frac{a_{k(i-1)}}{z^{k(i-1)}}$$

It is obvious that $f_1(z) = f(z)$ and $f_2(z) = \frac{f(z)-f(-z)}{2}$. In this paper, the differential operator \mathcal{U}_λ of a function f is defined as

$$\begin{aligned} \mathcal{U}_\lambda f_k(z) &= (1 - \lambda)f_k(z) + \lambda z f'_k(z) \\ &= z + (1 - \lambda)b_0 + \sum_{n=2}^{\infty} [1 - (k(i - 1) + 1)\lambda] \frac{b_{k(i-1)}}{z^{k(i-1)}} \end{aligned}$$

and

$$\mathcal{U}_\lambda (z f'(z)) = (1 - \lambda)z f'(z) + \lambda z (z f'(z))' = z + \sum_{i=2}^{\infty} k(i - 1) [\lambda(k(i - 1) + 1) - 1] \frac{b_{k(i-1)}}{z^{k(i-1)}}$$

for $0 \leq \lambda < \frac{1}{n+1}$.

Suppose that \mathcal{P} is the class of all functions with positive real part.

Lemma 1.1. [13] *If $s(z) \in \mathcal{P}$ for $z \in \Delta$ such that $Re(p(z)) > 0$, then $|s_i| \leq 2$, where*

$$s(z) = 1 + \frac{s_1}{z} + \frac{s_2}{z^2} + \dots$$

Definition 1.2. A function $f \in A$ is in the class $\Sigma\mathcal{U}_\lambda(k, \varphi)$ for $0 \leq \lambda \leq 1$ if

$$\left(\frac{z(\mathcal{U}_\lambda(zf'_k(z)))}{\mathcal{U}_\lambda(f_k(z))} \right) \prec \varphi(z).$$

The class $\Sigma\mathcal{U}_\lambda(k, \varphi)$ is a generalization of various subclasses of strongly starlike and convex functions with respect to symmetric points. It is easy to note that if $\lambda = 0$, then $\Sigma\mathcal{U}_0(k, \frac{1+Az}{1+Bz}) \equiv S_s^k(A, B)$ due to [14], if $\lambda = 0$, then $\Sigma\mathcal{U}_0(2, \varphi) \equiv S_s^*(\varphi)$ due to [15]. Also, if $\lambda = 1$, then $\Sigma\mathcal{U}_1(2, \varphi) \equiv C_s(\varphi)$ due to [15].

One objective of this paper is to introduce a new subclass of a function f in the class $\Sigma\mathcal{U}_\lambda(\varphi)$ and determine estimates on the coefficients $|b_1|$ and $|b_2|$.

2 The main results

A subclass of meromorphic bi-univalent functions is introduced.

Definition 2.1. A function $f \in \Sigma$ given in (1.2) is in the class $\Sigma\mathcal{U}_\lambda(k, \alpha)$ for $0 \leq \lambda \leq 1$ and $0 < \alpha \leq 1$ if it satisfies

$$\left| \arg \left(\frac{z(\mathcal{U}_\lambda(zf'_k(z)))}{\mathcal{U}_\lambda(f_k(z))} \right) \right| < \frac{\alpha\pi}{2}, \text{ for } z \in \Delta \quad (2.5)$$

$$\text{and } \left| \arg \left(\frac{w(\mathcal{U}_\lambda(wh'_k(w)))}{\mathcal{U}_\lambda(h_k(w))} \right) \right| < \frac{\alpha\pi}{2}, \text{ for } w \in \Delta \quad (2.6)$$

where

$$h(w) = w - b_0 - \frac{b_{k1}}{w^1} - \frac{b_{k2} + b_0b_{k1}}{w^2} - \frac{b_{k3} + 2b_0b_{k1} + b_0^2b_{k1} + b_{k1}^2}{w^3} + \dots$$

After some calculations, the coefficient bounds for a function $f \in \Sigma\mathcal{U}_\lambda(k, \alpha)$ are estimated.

Theorem 2.2. Consider a function $f \in \Sigma\mathcal{U}_\lambda(k, \alpha)$ for $k \in N$, $0 \leq \lambda < 1$ and $0 < \alpha \leq 1$. Then

$$|b_0| \leq \frac{2\alpha}{(1-\lambda)} \quad (2.7)$$

$$|b_{k1}| \leq \frac{2\alpha^2}{|\lambda(k+3) - 2|} \tag{2.8}$$

and

$$|b_{k2}| \leq \frac{\frac{4}{3}\alpha^3 - \frac{14}{3}\alpha^2 + 2\alpha}{|(2k+7)\lambda - 3|} \tag{2.9}$$

Proof. From the above definition it follows that

$$\frac{z(\mathcal{U}_\lambda(zf'_k(z)))}{\mathcal{U}_\lambda(f_k(z))} = (s(z))^\alpha, \text{ for } z \in \Delta, \tag{2.10}$$

and
$$\frac{w(\mathcal{U}_\lambda(wh'_k(w)))}{\mathcal{U}_\lambda(h_k(w))} = (r(w))^\alpha \text{ for } w \in \Delta, \tag{2.11}$$

where $s(z), r(w) \in \mathcal{P}$ and have the forms

$$s(z) = 1 + \frac{s_1}{z} + \frac{s_2}{z^2} + \dots \tag{2.12}$$

$$r(z) = 1 + \frac{r_1}{w} + \frac{r_2}{w^2} + \dots \tag{2.13}$$

and

$$[(s(z))^\alpha] = 1 + \frac{\alpha s_1}{z} + \frac{\frac{1}{2}\alpha(\alpha - 1)s_1^2 + \alpha s_2}{z^2} + \dots$$

$$[(r(w))^\alpha] = 1 + \frac{\alpha r_1}{w} + \frac{\frac{1}{2}\alpha(\alpha - 1)r_1^2 + \alpha r_2}{w^2} + \dots$$

From (2.3) and (2.4), it follows that

$$(\lambda - 1)b_0 = \alpha s_1 \tag{2.14}$$

$$(\lambda(k+3) - 2)b_{k1} = (\alpha s_2 - \frac{1}{2}\alpha(\alpha - 1)s_1^2) \tag{2.15}$$

$$((2k+7)\lambda - 3)b_{k2} = \frac{1}{6}\alpha(\alpha - 1)(\alpha - 2)s_1^3 + \alpha(\alpha - 1)s_1s_2$$

$$+\alpha s_3 + \alpha s_1 b_{k1}(1 - (k + 1)\lambda) - \frac{1}{2}\alpha(\alpha - 1)(\lambda - 1)s_2 b_0 \quad (2.16)$$

and

$$-(\lambda - 1)b_0 = \alpha r_1 \quad (2.17)$$

$$-(\lambda(k + 3) - 2) b_{k1} = (\alpha r_2 - \frac{1}{2}\alpha(\alpha - 1)r_1^2) \quad (2.18)$$

$$-((2k + 7)\lambda - 3)b_{k2} = \frac{1}{6}\alpha(\alpha - 1)(\alpha - 2)r_1^3 + \alpha(\alpha - 1)r_1 r_2$$

$$+\alpha r_3 + \alpha r_1 b_{k1}(1 - (k + 1)\lambda) - \frac{1}{2}\alpha(\alpha - 1)(\lambda - 1)r_2 b_0 \quad (2.19)$$

From (2.5) and (2.8), we have

$$s_1 = r_1 \quad (2.20)$$

and

$$b_0^2 = \frac{\alpha^2(s_1^2 + r_1^2)}{2(1 - \lambda)^2} \quad (2.21)$$

By Lemma 1.1, it follows that

$$|b_0| \leq \frac{2\alpha}{(1 - \lambda)} \quad (2.22)$$

From (2.6) and (2.9) it follows that

$$b_{k1}^2 = \frac{[\alpha s_2 - \frac{1}{2}\alpha(\alpha - 1)s_1^2]^2 + [\alpha r_2 - \frac{1}{2}\alpha(\alpha - 1)r_1^2]^2}{2(\lambda(k + 3) - 2)^2} \quad (2.23)$$

By Lemma 1.1, we have

$$|b_{k1}| \leq \frac{2\alpha^2}{|\lambda(k + 3) - 2|} \quad (2.24)$$

In addition, from (2.7) and (2.10), it follows that

$$b_{k2}^2 = \frac{[\frac{1}{6}\alpha(\alpha-1)(\alpha-2)s_1^3 + \alpha(\alpha-1)s_1s_2 + \alpha s_3 + \alpha s_1 b_{k1}(1-(k+1)\lambda) - \frac{1}{2}\alpha(\alpha-1)(\lambda-1)s_2 b_0]^2}{2((2k+7)\lambda-3)^2} + \frac{[\frac{1}{6}\alpha(\alpha-1)(\alpha-2)r_1^3 + \alpha(\alpha-1)r_1r_2 + \alpha r_3 + \alpha r_1 b_{k1}(1-(k+1)\lambda) - \frac{1}{2}\alpha(\alpha-1)(\lambda-1)r_2 b_0]^2}{2((2k+7)\lambda-3)^2}$$

By Lemma 1.1, we have

$$|b_{k2}| \leq \frac{\frac{4}{3}\alpha^3 - \frac{14}{3}\alpha^2 + 2\alpha}{|(2k+7)\lambda-3|} \tag{2.25}$$

This completes the proof of the theorem. \square

Definition 2.3. A function $f \in \Sigma$ given in (1.2) is in the class $\Sigma\mathcal{U}_\lambda(k, \beta)$ for $0 \leq \lambda < 1$ and $0 \leq \beta < 1$ if

$$\left(\frac{z(\mathcal{U}_\lambda(zf'_k(z)))}{\mathcal{U}_\lambda(f_k(z))} \right) > \beta, \text{ for } z \in \mathcal{U} \tag{2.26}$$

and

$$\left(\frac{w(\mathcal{U}_\lambda(wf'_k(w)))}{\mathcal{U}_\lambda(f_k(w))} \right) > \beta, \text{ for } w \in \mathcal{U}.$$

Theorem 2.4. Let a function $f \in \Sigma\mathcal{U}_\lambda(k, \beta)$ for $k \in N$, $0 \leq \lambda < 1$ and $0 \leq \beta < 1$. Then

$$|b_0| \leq \frac{2(1-\beta)}{(1-\lambda)} \tag{2.27}$$

$$|b_{k1}| \leq \frac{2(1-\beta)|1-2\beta|}{|\lambda(k+3)-2|} \tag{2.28}$$

and

$$|b_{k2}| \leq \frac{2(1-\beta)[(1-2\beta)(1-\lambda) + 2(1-\beta) + 1]}{|(2k+7)\lambda-3|} \tag{2.29}$$

Proof. From Definition 2.3 it follows that

$$\frac{z(\mathcal{D}_\lambda f(z))}{(1-\lambda)K_0(f(z)) + \lambda z K_1(f(z))} = \beta + (1-\beta)s(z) \tag{2.30}$$

and

$$\frac{w(\mathcal{D}_\lambda g(w))}{(1-\lambda)K_0(g(w)) + \lambda w K_1(g(w))} = \beta + (1-\beta)s(z) \tag{2.31}$$

where $s(z)$ and $r(z)$ are given in (2.11) and (2.12) respectively. From (2.26) and (2.27), it follows that

$$(\lambda - 1)b_0 = (1 - \beta)s_1 \quad (2.32)$$

$$(\lambda(k + 3) - 2)b_{k1} = (1 - \beta)(s_2 - (1 - \beta)s_1^2) \quad (2.33)$$

$$((2k + 7)\lambda - 3)b_{k2} = (1 - \beta)[s_1(1 - (k + 1)\lambda)b_{k1} + (1 - \lambda)s_1b_0 + s_3] \quad (2.34)$$

and

$$-(\lambda - 1)b_0 = (1 - \beta)r_1 \quad (2.35)$$

$$-(\lambda(k + 3) - 2)b_{k1} = (1 - \beta)(r_2 - (1 - \beta)r_1^2) \quad (2.36)$$

$$-((2k + 7)\lambda - 3)b_{k2} = (1 - \beta)[r_1(1 - (k + 1)\lambda)b_{k1} + (1 - \lambda)r_1b_0 + r_3] \quad (2.37)$$

From (2.28) and (2.31), we have

$$s_1 = -r_1 \quad \text{and} \quad 2b_0^2 = \frac{(1 - \beta)^2(s_1^2 + r_1^2)}{(1 - \lambda)^2} \quad (2.38)$$

By Lemma 1.1, we get

$$|b_0| \leq \frac{2(1 - \beta)}{(1 - \lambda)} \quad (2.39)$$

From (2.29) and (2.32), we have

$$b_{k1}^2 = \frac{(1 - \beta)^2[(s_2 - (1 - \beta)s_1^2)^2 + (r_2 - (1 - \beta)r_1^2)^2]}{2(\lambda(k + 3) - 2)^2} \quad (2.40)$$

By Lemma 1.1, we deduce that

$$|b_{k1}| \leq \frac{2(1 - \beta)|1 - 2\beta|}{|\lambda(k + 3) - 2|} \quad (2.41)$$

It follows from (2.30), (2.33) and by using Lemma 1.1 that

$$|b_{k2}| \leq \frac{2(1 - \beta)[(1 - 2\beta)(1 - \lambda) + 2(1 - \beta) + 1]}{|(2k + 7)\lambda - 3|} \quad (2.42)$$

This completes the proof of the theorem. \square

3 Acknowledgment

The author thanks the referees for their useful suggestions to improve this paper.

References

- [1] P. S. Duren, *Univalent Functions*, Grundlehren der Mathematischen Wissenschaften, 259, Springer, New York, 1983.
- [2] M. Lewin, On a coefficient problem for bi-univalent functions, *Proc. Amer. Math. Soc.*, **18**, (1967), 63-68.
- [3] A. RM, S. Lee, V. Ravichandran, S. Subramaniam, Coefficient estimates for bi-univalent Ma-Minda starlike and convex functions, *Appl. Math. Letters.*, **25**, (2012), 344–351.
- [4] B. Frasin, M. Aouf, New subclasses of bi-univalent functions, *Appl. Math. Letters*, **24**, no. 9, (2011), 1569-1573.
- [5] H. Q. Srivastava, Y. Xu, C. Gui, Coefficient estimates for a certain subclass of analytic and bi-univalent functions, *Appl. Math. Letters*, **25**, (2012), 990-994.
- [6] H. Srivastava, A. Mishra, P. Gochhayat, Certain subclasses of analytic and bi-univalent functions, *Appl. Math. Lett.*, **23**, (2010),1188-1192.
- [7] H. G. Srivastava, G. Murugusundaramoorthy, N. Magesh, Certain subclasses of bi-univalent functions associated with the Hohlov operator, *Global J. of Math. Analysis*, **1**, no. 2,(2013), 67–73.
- [8] S. Jum, F. Aziz, Applying Ruscheweyh derivative on two sub-classes of bi-univalent functions, *Int. J. of B. and Appl. Sci.*, **12**, no. 6, (2012), 68–74.
- [9] A. Brannan, J. Clunie, *Aspects of Contemporary Complex Analysis* Academic Press, New York, London, 1979.
- [10] A. Brannan, T. Taha, On some classes of bi-univalent functions *Babe-Bolyai Math.*, **31**, no. 2,(1986), 70-77.

- [11] A. Schiffer, Sur un probleme dextremum de la representation conforme, Bull. Soc. Math., **66**, (1938), 48-55.
- [12] N. Magesh, J. Yamini, Coefficient Estimates for a Certain General Subclass of Analytic and Bi-Univalent Functions, Appl. Math., **5**, (2014), 1047–1052.
- [13] C. Pommerenke, Univalent Functions, Vandenhoeck and Ruprecht, Gttingen, 1975.
- [14] K. Ohsang, S. Youngjae, A Certain Subclass of Janowski Type Functions Associated with k -Symmetric Points Comm. Korean Math. Soc., **28**, no. 1, (2013), 143–154.
- [15] V. Ravichandran, Starlike and convex functions with respect to conjugate points, Acta Math. Acad. Paedagog, **20**, no. 1, (2004), 31–37.
- [16] H. Suzeini, G. Samaneh, V. Ravichandran, Coefficient estimates for meromorphic bi-univalent functions, arXiv:1108.4089v1 [math.CV], 2011.
- [17] T. Janani, Ga Murugusundaramoorthy, K. Vijaya, New subclass of pseudo-type meromorphic bi-univalent functions of complex order, Novi Sad J. Math., **48**, no. 1, (2018), 93–102.
- [18] G. Springer, The coefficient problem for Schlicht mappings of the exterior of the unit circle., Trans. Amer. Math. Soc., **70**, (1951), 421–450.